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COMMON SECOND REVISION TEST - 2023

Standard X Reg.No.
MATHEMATICS
Time: 3.00 hours Part - | Marks: 100
I. Choose the correct answer: 14x1=14
1. If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a,b) is
a) (2-2) b) (5,1) c) (2,3) d) (3-2)
2. The domain of f(x)= 2 is
-1 , ) 1
4R by R- {3} ) R+131 d) R-{-3)

3. Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then
the possible remainderare - | :

ay’0,1,8 b) 14,8 €) 0,13 Cd) 135

4. If 6 times of 6" term of an A.P is equal to 7 times of 7!" term, then the 13! term of the
APis = |

ay’0 b) 6 c)7 d) 13
3y-3 7y-7 ‘
5. y 3y2 is | .
9y oA §y3 \ 21y% - 42y+ 21 d' 7!y2-2y+1!
¥7. ) 21yt Fl T TR

: 30
6. |f'°~=(0 0] then A2 -Ajis

: 3.0 5{60 - (90 , 10

3 {0 0 00 0 o o %-a'0

7. The perimeter of two similar triangles AABC and APQR are 36 cm and 24 cm
respectively. If PQ = 10 cm, then the length of AB is

N

a) 65 cm b) 193}@ cm c) 665 cm dy'15 cm
8. How many tangents can be drawn at the circle from an exterior points?
a) one b)" two c) infinite d) zefo
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(2) X Mathematics
9. The equation of a line passing through the origin and perpendicular to the line
4l T Ois

a) 7x-3y+4=0 b) 3x-7y+4=0 e/3x+7y 0 . d) 7x-3y=0
' £ sin20+ — s -
10. The value of S iterlo equal to
a) tan% b) 1 | c)cot?d - d) 0

11. If sin® = cos0, then 2tan2 + sin20 - 1 is equal to
il - "%
a) % o 4 ¢) % 4 2%

12. If volume of cylinder is 15 x cm®, then the volume of cone having some base radius
and of the same height that of cylinder is

a) 5cm? b) 45¢cm® . cén em®.  d) 15mcmd
13. Ifaletteris chosen at random from the English alphabets {a,b........, z} then the probability
_that the letter chosen preceeds x

a) 1%, b) 3 09/2%6 d) ¥
14. The probability of getting 54 Saturday in an ordinary year is

a) % o 0 c) % d) W65
Part - Il : ,
Il. Answer any 10 questions. (Q.No.28 is compulsbry)_ 10x2=20
| 15. A Relation Ris given by the set {(x,y)/y = x+3, xe{0,1,2,3,4,5}}. Determine its domain
"andrange.

16. If f(x) = 3x - 2 g(x) 2x+kand |ffog gof, then find the value of k.

- i sl iarns e aivan’ __on
- 17. Find ag and a4, of the sequence whose n'™" term is given by a, = =

LA

18. Find thesumof 1 +4+9+16+......... +225
19 Write down the quadratlc equatuon in general form for which sum and product of the

roots are ‘/5 and /2 .

20. Define Diagonal matrix and givé one example.
21. In AABC, D and E are point on the sides AB and AC respectively such that DEHBC If

AD 3 ' \
ﬁ—zandAC 150m f:ndAE

'22. Find the area of the triangle whose vertices are (-3,5), (5,6) and (5,-2)

| ‘ Kindly send me your questions and ansWerkeys tous: Padasalai.Net@gmail.COm
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23.
24.
25.‘
26.

2.
28,

.
29.
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(3) -~ XMathematics
Find the equation of a line whose inclination is 45° and making an intercepts~3 on the

X-axis.

sech sin0
Prove that Sino ~ coso

The curved surface area of a right circular cylinder of height 14 cmis 88 cm?. Find the
diameter of the cylinder.

The volumes of two cones of same base radius are 3600 cm? and 5040 cm”. Find the
ratio of heights.

Two dice are rolled together Find the probablllty of getting a doublet
If the straight lines 12y = —(p+3) x + 12, 12x -7y =16 are perpendlcular then frnd P’

: ‘Part - Il :
Answer any 10 questions. (Q.No.42 is compulsery) 10x5=50
LetA={xeN /1< x<4};B={xeW/0<x<2}andC = {xeN/x <3}, then verify that -

=cotO

. Ax(BNC)=(AxB)n(AxXC)

30.

31.
32

33.

38,

37.

38.

39.

The sum of firstn, 2n and 3n terms ofanA.Pare S,, S,and 83 respectively, prove that
S;=3(S,-5,) |

Find the sum to n terms of the series : 3 + 33 + “ofo) SR to n terms.

Find the GCD of the polyriomials x3 + x2 — x + 2 and 2x3 - 5x2 + 5x - 3

| e e R B e B @ | 56 e o) e
Giventhat A=|c _],P=l3 5 5| %%|_4 1 3|, verify that

A(B +C)=AB +AC

. State and prove Angle Bisector Theorem.
3D

P and Q are the mid-points of the sides CA and CB respecttvely of a AABC, right -
angled C. Proye that 4(AQ? + BP?) = 5AB?,

If-the points'A(2,2), B(-2 —3) C( ,—3) and D(x Y) from a parallelogram then find the
value of x and y. ‘ - : ‘

Find the. equatlon of straight line passmg throuah (1,~4) and has intercepts which are
in the ratio 2:5. - '

An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in the
same direction. The angles of depression of the boats-as observed from the aeroplane

" are 60° and 30° respectively. Find the distance between the two boats. (J§ s 1,732)

Form a solid cylinder whose height is 2.4 cm and the diameter 1.4 cm, a cone of the
same heightand same diameter is carved out. Find the volume of the remaining solid

to the nearest cm?,
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(4) X Mathematics
40. Three solid spheres of radii 6 cm, 8 cm and 10 cm respectively are melted to form a
single solid sphere. Find the radius of the resulting sphere.

41. The time taken (in minutes) to complete a homework by 8 students in a day are given
by 38, 40,47, 44, 46, 43, 49, 53. Find the coefficient of variation.

42. If the polynomial 25x4— 10x3 + ax2 + bx + 81 is a perfect square then find the value of
aandb.

Part - IV
IV. Answer all the questions. 2x8=16

43. a) Constructa triangle APQR such that QR = 5 cm, ZP = 30° and the altitude from
P to QR is of length 4.2 cm.

(OR)

b) Take a point which is 11 cm éway from the centre of a circle of radius 4 cm and
draw the two tangents to the circle from the point.

44. a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship
between the diameter and circumference of each circle as shown in the table and
. use itto find the circumference of a circle when its diameter is 6 cm.

Diameter (x) cm 1. |2 3 4 | -5

 Circumference (y)em | 3.1 | 62 | 93 | 124 | 155

(OR)

b)  Discuss the nature of solutions of'th‘e quadratic equation x2—8x + 16 =0

wkkhkd

]
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